Cop e,
v é Tinh nhan tir ctia da thirc bac hai

Tén: Ngay thang: Diém:
5x + 36x — 32 26" + 13x— 7
9% — 62x — 80 2> — 18x + 40
X’ —25 8x> — 31x+21
2 2
x —2x—24 x +10x+24
X +x—12 X* +2x—24
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Tinh nhan tir cia da thirc bac hai

AT LY

Tén: Ngay thang: Diém:

5x + 36x — 32
(5x — 4)(x + 8)

2% + 13x— 7
2x— D(x+7)

9% — 62x — 80 2x> — 18x + 40
(O9x+ 10)(x— 8) 2c—4)(x—5)
X —25 8x> — 31x+21
(x+5)x—15) &= 7(x—3)
2 2
x —2x—24 x +10x+24
(x+4)(x—6) (x+ 6)(x+4)
X +x—12 X* +2x—24
(x+ 4)(x - 3) (x— 4)(x+ 6)

www.snowmath.com


https://www.snowmath.com

